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Maths Assignment-2 on 09/07/25 

Portion:   

Ch 1 - Number System - (only Ex 1.4 & 1.5) 

Ch 2- Addition & Subtraction (Ex 2.4 omitted) 

                          To be submitted on 04/07/25 

  

DELHI PUBLIC SCHOOL, NERUL, NAVI MUMBAI 

MATHS PRACTICE ASSIGNMENT-2 

SESSION 2025-26 

CLASS IV 

 

NAME:                                                                                         ROLL NO.__________   

 

QI) Circle the correct option: 

i) Which number comes just after 98,999? 

a) 98,998            b) 98,990             c) 99,000                 d) 98,900 

ii) Largest 6 digit number formed using digits 3,4,5,2,8,1 is: 

a) 8,54,321          b) 1,23,458         c) 5,48,123            d) 1,23,854 

iii) The sum of 12,345+0= 

a) 12,346            b) 0                            c) 1                        d) 12,345 

iv) Which number is closest to 21,475 when rounded to the nearest 1000s? 

a) 21,400            b) 21,000            c) 21,500                d) 21,600 

 

QII) Fill in the blanks: 

a)  10,000 + 99,999 = ______________ 

b)   23,456+(56,789+24,513) = ____________ (23,456+24,513) 

 

QIII) Arrange in columns and add: 

    48,675 + 32,950 

                                           

QIV) a) Round 45,267 to the nearest 10s place:  __________ 

            b) Round 9,99,996 to the nearest 100s place:  __________ 

 

QV) Read the problems carefully and answer the following questions       

A warehouse had 87,640 boxes of toys. 38,295 boxes were sold. How many boxes are left? 
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QVI) Use the clues to find the correct number in Roman Numeral: 

a) The number has 3 digits. 

b) The hundreds digit is 2. 

c) The tens digit is half the hundreds digit. 

d) The ones digit is the sum of the hundreds and tens digits. 

Roman Number: 

 

QVII) Below are Assertion and Reason based questions. Two statements are given below, one is 

Assertion (A) and the other is reason (R). Select the correct answer to these questions from the 

options (a), (b), (c) and (d) as given:     

 

Assertion (A): L is used to represent 50 in Roman numerals. 

Reason (R): The Roman numeral system has no symbol for zero. 

Choose the correct option: 

a) Both A and R are true and R explains A 

b) Both A and R are true but R does not explain A 

c) A is true but R is false 

d) A is false but R is true 

 

******************************************************** 


